# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Time	F/P/S	Event	Place	Points	Improv
Zavier Allan (	8) M				
25.46S	F # 102F	Male 8-8 25 Free	6	13	
NS	F # 106F	3 Male 8-8 25 Back			
52.77S	F #112F	Male 8-8 50 Free	5	14	
DQ	F #116E	Male 8-8 50 Back			
Deon Badenhor	rst (9) M				
19.74S	F # 1020	Male 9-9 25 Free	1	20	-6.52
26.34S	F # 1060	Male 9-9 25 Back	2	17	-0.70
45.68S	F #1120	Male 9-9 50 Free	2	17	-1.89
1:03.20S	F #1140	Male 9-9 50 Breast	1	20	-4.76
Zachary Bartor	n (9) M				
DQ	F # 1080	Male 9-9 25 Fly			
53.69S	F #1120	Male 9-9 50 Free	8	11	-3.98
1:12.08S	F #1140	Male 9-9 50 Breast	4	15	-8.37
1:10.57S	F #1160	Male 9-9 50 Back	9	9	0.13
Eloise Bernhard	dt (7) F				
32.21S	F # 101A	A Female 7 & Under 25 Free	13	4	
35.19S	F # 105A	A Female 7 & Under 25 Back	9	9	
1:16.66S	F #111A	Female 7 & Under 50 Free	12	5	
1:14.08S	F #115A	A Female 7 & Under 50 Back	5	14	
Rowynn Biffart	t (8) F				
33.02S	F # 101E	Female 8-8 25 Free	14	3	
31.06S	F # 105F	B Female 8-8 25 Back	8	11	
1:19.37S	F #111E	Female 8-8 50 Free	21		
1:16.72S	F #115E	Female 8-8 50 Back	15	2	
Kaiden Burns	(9) M				
1:18.41S	F # 2060	Male 9-9 50 Breast	4	15	-9.84
1:05.22S	F # 2080	Male 9-9 50 Back	7	12	2.91
1:06.63S	F # 2100	Male 9-9 50 Free	11	6	3.34
2:25.46S	F # 2140	Male 9-9 100 Back	3	16	5.81
Slade Diakiw	(7) M				
25.46S	F # 102A	Male 7 & Under 25 Free	2	17	
35.81S	F # 106A	Male 7 & Under 25 Back	6	13	
1:27.58S	F #112A		9	9	
1:24.13S	F # 116A		6	13	
Dylan Fergie (	(12) F				
1:34.44S	F # 203F	Female 12-12 100 Free	3	16	-5.14
53.28S	F # 205F		3	16	-0.74
21.64S	F #211F		1	20	-1.05
NS	F #213F				

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Ratic Gauthier   11	Time	F/P/S	Event	Place	Points	Improv
51.338         F         # 2016         Female 11-11 50 Breast         2         17         6.07           21.788         F         # 2116         Female 11-11 25 Fly         1         20         -6.92           1.788         F         # 2121         Female 11-11 100 Back	Katie Gauthier	(11) F				
21.788	1:27.32S	F # 203E	Female 11-11 100 Free	1	20	-3.47
NS	51.33S	F # 205E	Female 11-11 50 Breast	2	17	-6.17
Part Harrison   12	21.78S	F #211E	Female 11-11 25 Fly	1	20	-6.92
1:17.88S	NS	F #213E	Female 11-11 100 Back			
1:17.88S	Brett Harrison	(12) M				
36.82S			Male 12-12 100 Free	1	20	-3.87
Note	50.81S	F # 206F	Male 12-12 50 Breast	2	17	-4.60
	36.82S	F #210F	Male 12-12 50 Free	2	17	-0.88
1:26.74S	1:36.51S	F #214F	Male 12-12 100 Back	1	20	-1.43
1:26.74\$	Jordan Harriso	n (12) M				
39.70S	1:26.74S	F # 204F	Male 12-12 100 Free	4	15	-5.39
1.49.81S	54.08S	F # 206F	Male 12-12 50 Breast	3	16	-3.53
Maxwell Harrison         1.0         M           1:42.308         F         # 2040         Male         10-10 100 Free         6         13         -0.23           50.788         F         # 2080         Male         10-10 50 Back         7         12         1.24           DQ         F         # 2120         Male         10-10 25 Fly               1:53.388         F         # 2160         Male         10-10 100 IM         4         15         -2.56           Raneming         (8)         M <td>39.70S</td> <td>F #210F</td> <td>Male 12-12 50 Free</td> <td>4</td> <td>15</td> <td>-0.79</td>	39.70S	F #210F	Male 12-12 50 Free	4	15	-0.79
1:42.30S	1:49.81S	F #214F	Male 12-12 100 Back	2	17	-4.74
1:42.30S	Maxwell Harris	on (10) M				
DQ			Male 10-10 100 Free	6	13	-0.23
1:53.38S         F # 216D         Male 10-10 100 IM         4         15         -2.56           Ian Henning (8)         M	50.78S	F # 208D	Male 10-10 50 Back	7	12	1.24
1:53.38S	DQ	F # 212D	Male 10-10 25 Fly			
28.07S         F # 102B         Male 8-8 25 Free         12         4.5            33.94S         F # 106B         Male 8-8 25 Back         10         7            1:25.83S         F # 112B         Male 8-8 50 Free         20             1:26.39S         F # 116B         Male 8-8 50 Back         14         3            Alexander Holt (10)         M           1:23.07S         F # 204D         Male 10-10 100 Free         1         20         -16.21           46.01S         F # 208D         Male 10-10 50 Back         3         16         -3.43           18.52S         F # 212D         Male 10-10 25 Fly         1         20         -2.55           1:37.02S         F # 216D         Male 10-10 100 IM         1         20         -9.91           Cora Hunter (8) F           29.59S         F # 110B         Female 8-8 25 Breast         2         17         -5.28           28.09S         F # 117B         Female 8-8 25 Free         2         17         -4.31           49.78S         F # 111B         Female 8-8 50 Back         1         20         -2.31           Gibson Hurd (7) M	1:53.38S	F #216D		4	15	-2.56
28.07S         F # 102B         Male 8-8 25 Free         12         4.5            33.94S         F # 106B         Male 8-8 25 Back         10         7            1:25.83S         F # 112B         Male 8-8 50 Free         20             1:26.39S         F # 116B         Male 8-8 50 Back         14         3            Alexander Holt (10)         M           1:23.07S         F # 204D         Male 10-10 100 Free         1         20         -16.21           46.01S         F # 208D         Male 10-10 50 Back         3         16         -3.43           18.52S         F # 212D         Male 10-10 25 Fly         1         20         -2.55           1:37.02S         F # 216D         Male 10-10 100 IM         1         20         -9.91           Cora Hunter (8) F           29.59S         F # 110B         Female 8-8 25 Breast         2         17         -5.28           28.09S         F # 117B         Female 8-8 25 Free         2         17         -4.31           49.78S         F # 111B         Female 8-8 50 Back         1         20         -2.31           Gibson Hurd (7) M	Ian Henning (8	8) M				
1:25.83S         F # 112B         Male 8-8 50 Free         20             1:26.39S         F # 116B         Male 8-8 50 Back         14         3            Alexander Holt (10) M           1:23.07S         F # 204D         Male 10-10 100 Free         1         20         -16.21           46.01S         F # 208D         Male 10-10 50 Back         3         16         -3.43           18.52S         F # 212D         Male 10-10 25 Fly         1         20         -2.55           1:37.02S         F # 216D         Male 10-10 100 IM         1         20         -9.91           Cora Hunter (8) F           29.59S         F # 103B         Female 8-8 25 Breast         2         17         -5.28           28.09S         F # 107B         Female 8-8 25 Fly         2         17         -4.31           49.78S         F # 111B         Female 8-8 50 Free         2         17         2.06           54.46S         F # 115B         Female 8-8 50 Back         1         20         -2.31           Gibson Hurd (7) M           39.19S         F # 102A         Male 7 & Under 25 Free         11         6		•	Male 8-8 25 Free	12	4.5	
1:25.83S       F # 112B       Male 8-8 50 Free       20           1:26.39S       F # 116B       Male 8-8 50 Back       14       3          Alexander Holt (10)       M             Alexander Holt (10)       M              1:23.07S       F # 204D       Male 10-10 100 Free       1       20       -16.21				10	7	
Alexander Holt         (10)         M           1:23.07S         F # 204D         Male 10-10 100 Free         1         20         -16.21           46.01S         F # 208D         Male 10-10 50 Back         3         16         -3.43           18.52S         F # 212D         Male 10-10 25 Fly         1         20         -2.55           1:37.02S         F # 216D         Male 10-10 100 IM         1         20         -9.91           Cora Hunter (8) F         F         # 103B         Female 8-8 25 Breast         2         17         -5.28           28.09S         F # 107B         Female 8-8 25 Fly         2         17         -4.31           49.78S         F # 111B         Female 8-8 50 Free         2         17         -2.06           54.46S         F # 115B         Female 8-8 50 Back         1         20         -2.31           Gibson Hurd (7)         M           39.19S         F # 102A         Male 7 & Under 25 Free         11         6            37.70S         F # 106A         Male 7 & Under 25 Back         7         12            1:25.20S         F # 112A         Male 7 & Under 50 Free         6         13 <t< td=""><td>1:25.83S</td><td>F #112B</td><td>Male 8-8 50 Free</td><td>20</td><td></td><td></td></t<>	1:25.83S	F #112B	Male 8-8 50 Free	20		
1:23.07S       F # 204D       Male 10-10 100 Free       1       20       -16.21         46.01S       F # 208D       Male 10-10 50 Back       3       16       -3.43         18.52S       F # 212D       Male 10-10 25 Fly       1       20       -2.55         1:37.02S       F # 216D       Male 10-10 100 IM       1       20       -9.91         Cora Hunter (8)       F       F # 103B       Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7)       M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	1:26.39S	F #116B	Male 8-8 50 Back	14	3	
1:23.07S       F # 204D       Male 10-10 100 Free       1       20       -16.21         46.01S       F # 208D       Male 10-10 50 Back       3       16       -3.43         18.52S       F # 212D       Male 10-10 25 Fly       1       20       -2.55         1:37.02S       F # 216D       Male 10-10 100 IM       1       20       -9.91         Cora Hunter (8)       F       F # 103B       Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 111B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7)       M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	Alexander Holt	(10) M				
A6.01S			Male 10-10 100 Free	1	20	-16.21
1:37.02S       F # 216D       Male 10-10 100 IM       1       20       -9.91         Cora Hunter (8)       F         29.59S       F # 103B       Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7)       M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	46.01S	F # 208D	Male 10-10 50 Back	3	16	-3.43
Cora Hunter       (8)       F         29.59S       F # 103B Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7) M         39.19S       F # 102A Male 7 & Under 25 Free       11       6          37.70S       F # 106A Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A Male 7 & Under 50 Free       6       13	18.52S	F # 212D	Male 10-10 25 Fly	1	20	-2.55
29.59S       F # 103B       Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7) M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	1:37.02S	F #216D	Male 10-10 100 IM	1	20	-9.91
29.59S       F # 103B       Female 8-8 25 Breast       2       17       -5.28         28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7) M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	Cora Hunter (	8) F				
28.09S       F # 107B       Female 8-8 25 Fly       2       17       -4.31         49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7) M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13	·		Female 8-8 25 Breast	2	17	-5.28
49.78S       F # 111B       Female 8-8 50 Free       2       17       2.06         54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd (7) M         39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13				2		
54.46S       F # 115B       Female 8-8 50 Back       1       20       -2.31         Gibson Hurd       (7)       M			•			
Gibson Hurd         (7)         M           39.19S         F # 102A         Male 7 & Under 25 Free         11         6            37.70S         F # 106A         Male 7 & Under 25 Back         7         12            1:25.20S         F # 112A         Male 7 & Under 50 Free         6         13						
39.19S       F # 102A       Male 7 & Under 25 Free       11       6          37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13						
37.70S       F # 106A       Male 7 & Under 25 Back       7       12          1:25.20S       F # 112A       Male 7 & Under 50 Free       6       13			Male 7 & Under 25 Free	11	6	
1:25.20S F #112A Male 7 & Under 50 Free 6 13						
	DQ					

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Time	F/P/S	Event	Place	Points	Improv
Mackenzie Hu	rd (10) F				
1:36.81S	F #203D	Female 10-10 100 Free	8	11	-4.38
48.41S	F # 207D	Female 10-10 50 Back	4	15	-3.09
43.28S	F # 209D	Female 10-10 50 Free	4	15	-3.90
1:51.43S	F # 215D	Female 10-10 100 IM	7	12	-15.86
Leah Jaber (	9) F				
22.72S	F #107C	Female 9-9 25 Fly	2	17	-9.44
43.65S	F #111C	Female 9-9 50 Free	1	20	-7.40
1:14.53S	F #113C	Female 9-9 50 Breast	9	9	-22.64
55.64S	F #115C	Female 9-9 50 Back	5	14	-4.71
Charlotte John	nston (7) F				
40.81S	F #101A	Female 7 & Under 25 Free	20		
40.44S	F #105A	Female 7 & Under 25 Back	15	2	
1:30.50S	F #111A	Female 7 & Under 50 Free	18		
1:35.26S	F #115A	Female 7 & Under 50 Back	12	5	
Kaycee Johnst	on (8) F				
34.94S	F #101B	Female 8-8 25 Free	17		
36.41S	F #105B	Female 8-8 25 Back	14	3	
1:16.39S	F #111B	Female 8-8 50 Free	20		
1:27.04S	F #115B	Female 8-8 50 Back	18		
Camryn Jones	(8) F				
35.88S	F #101B	Female 8-8 25 Free	18		
39.88S	F #105B	Female 8-8 25 Back	17		
1:22.77S	F #111B	Female 8-8 50 Free	23		
1:33.69S	F #115B	Female 8-8 50 Back	19		
Jack Julian (	11) M				
1:39.27S	F # 204E	Male 11-11 100 Free	3	16	-5.57
44.63S	F #208E	Male 11-11 50 Back	1	20	1.50
21.63S	F #212E	Male 11-11 25 Fly	1	20	0.86
1:46.77S	F #216E	Male 11-11 100 IM	4	15	5.51
Rory Knox (1	10) M				
51.34S	F # 206D	Male 10-10 50 Breast	2	17	-3.92
47.66S	F # 208D	Male 10-10 50 Back	5	14	1.65
21.89S	F #212D	Male 10-10 25 Fly	3	16	-2.08
1:44.27S	F #216D	Male 10-10 100 IM	2	17	-3.94
Katherine Kol	ın (6) F				
44.66S	F #101A	Female 7 & Under 25 Free	21		
36.32S	F #105A	Female 7 & Under 25 Back	11	6	
1:45.53S	F #111A	Female 7 & Under 50 Free	20		
NS	F #115A	Female 7 & Under 50 Back			

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Caden Kotowich (11)   M	Time	F/P/S	Event	Place	Points	Improv
1-128,845	Caden Kotowi	ch (11) M				
39.43S			Male 11-11 100 Free	2	17	-14.02
	50.06S	F # 206E	Male 11-11 50 Breast	1	20	-7.13
Paper   Pape	39.43S	F # 210E	Male 11-11 50 Free	2	17	-1.06
Note   Part   1928   Male 8-8.25 Free   12   4.5   -2.106     40.18S   F   #1048   Male 8-8.25 Frees   3   3   16       1.00.06S   F   #1128   Male 8-8.50 Free   9   9   3.27     1.02.83S   F   #1168   Male 8-8.50 Back   5   14       3.05   Satic Leonard   9   F     27.33S   F   #10C   Female 9-9.25 Free   7   12       30.51S   F   #10S   Female 9-9.25 Back   5   14       30.51S   F   #10S   Female 9-9.50 Back         1.14.40S   F   #200C   Female 9-9.50 Free   17   18.5       1.14.40S   F   #200E   Female 9-9.50 Free   1   18.5       1.14.40S   F   #10E   Male 8-8.25 Free   1   18.5       21.31S   F   #102B   Male 8-8.25 Free   3   16       21.31S   F   #102B   Male 8-8.25 Free   3   16       21.31S   F   #102B   Male 8-8.50 Free   3   16       30.47S   F   #102B   Male 8-8.50 Free   3   16       30.47S   F   #10B   Male 8-8.50 Free   3   16       30.47S   F   #116B   Male 8-8.50 Free   3   16       40.25   F   #116B   Male 8-8.50 Free   3   10       40.26   F   #108   Male 8-8.50 Free   1   20       41.49.83S   F   #205D   Female 10-10 100 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.50 Free   1	1:40.01S	F # 216E	Male 11-11 100 IM	2	17	-13.67
Note   Part   1928   Male 8-8.25 Free   12   4.5   -2.106     40.18S   F   #1048   Male 8-8.25 Frees   3   3   16       1.00.06S   F   #1128   Male 8-8.50 Free   9   9   3.27     1.02.83S   F   #1168   Male 8-8.50 Back   5   14       3.05   Satic Leonard   9   F     27.33S   F   #10C   Female 9-9.25 Free   7   12       30.51S   F   #10S   Female 9-9.25 Back   5   14       30.51S   F   #10S   Female 9-9.50 Back         1.14.40S   F   #200C   Female 9-9.50 Free   17   18.5       1.14.40S   F   #200E   Female 9-9.50 Free   1   18.5       1.14.40S   F   #10E   Male 8-8.25 Free   1   18.5       21.31S   F   #102B   Male 8-8.25 Free   3   16       21.31S   F   #102B   Male 8-8.25 Free   3   16       21.31S   F   #102B   Male 8-8.50 Free   3   16       30.47S   F   #102B   Male 8-8.50 Free   3   16       30.47S   F   #10B   Male 8-8.50 Free   3   16       30.47S   F   #116B   Male 8-8.50 Free   3   16       40.25   F   #116B   Male 8-8.50 Free   3   10       40.26   F   #108   Male 8-8.50 Free   1   20       41.49.83S   F   #205D   Female 10-10 100 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.25 Free   1   20       42.40IS   F   #10B   Male 8-8.50 Free   1	Jasper Kotowi	ch (8) M				
1:00.06S	-		Male 8-8 25 Free	12	4.5	-21.06
1:02.838	40.18S	F #104B	Male 8-8 25 Breast	3	16	
Sadie Leonard (9)   F	1:00.06S	F #112B	Male 8-8 50 Free	9	9	-3.27
Part	1:02.83S	F #116B	Male 8-8 50 Back	5	14	-3.30
27.33S	Sadie Leonard	(9) F				
DQ			Female 9-9 25 Free	7	12	
1:14.40S	30.51S	F #105C	Female 9-9 25 Back	5	14	
Clayton Lindenback   88   M	DQ	F #115C	Female 9-9 50 Back			
21.31S	1:14.40S	F # 209C	Female 9-9 50 Free	17		
21.31S	Clayton Linde	nback (8) M				
30.47S	•		Male 8-8 25 Free	1	18.5	-1.84
51.21S         F # 112B         Male 8-8 50 Free         3         16         0.22           1:01.52S         F # 116B         Male 8-8 50 Back         3         16         1.09           Genevyeve Lindenback         (10) F           1:32.65S         F # 203D         Female 10-10 100 Free         6         13         -8.72           54.97S         F # 205D         Female 10-10 50 Breast         4         15         -6.38           41.52S         F # 209D         Female 10-10 50 Free         1         20         -1.87           1:49.83S         F # 201D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback         (8) M         8         8         25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 112B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 206E         Male 11-11 50 Breast               NS						
1:01.52S	51.21S	F #112B		3	16	
1:32.65S         F # 203D         Female 10-10 100 Free         6         13         -8.72           54.97S         F # 205D         Female 10-10 50 Breast         4         15         -6.38           41.52S         F # 209D         Female 10-10 50 Free         1         20         -1.87           1:49.83S         F # 215D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback (8) M           24.01S         F # 104B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Fty         1         20         -11.89           42.72S         F # 112B         Male 8-8 50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 126B         Male 11-11 50 Breast              NS         F # 206E         Male 11-11 50 Back              NS         F # 216E         Male 11-11 100 IM         1         20 <td>1:01.52S</td> <td>F #116B</td> <td>Male 8-8 50 Back</td> <td></td> <td>16</td> <td></td>	1:01.52S	F #116B	Male 8-8 50 Back		16	
1:32.65S         F # 203D         Female 10-10 100 Free         6         13         -8.72           54.97S         F # 205D         Female 10-10 50 Breast         4         15         -6.38           41.52S         F # 209D         Female 10-10 50 Free         1         20         -1.87           1:49.83S         F # 215D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback (8) M           24.01S         F # 104B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Fty         1         20         -11.89           42.72S         F # 112B         Male 8-8 50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 126B         Male 11-11 50 Breast              NS         F # 206E         Male 11-11 50 Back              NS         F # 216E         Male 11-11 100 IM         1         20 <td>Genevveve Lin</td> <td>denback (10) F</td> <td></td> <td></td> <td></td> <td></td>	Genevveve Lin	denback (10) F				
54.97S         F # 205D         Female 10-10 50 Breast         4         15         -6.38           41.52S         F # 209D         Female 10-10 50 Free         1         20         -1.87           1:49.83S         F # 215D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback (8) M           24.01S         F # 104B         Male 8-8-25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8-25 Fly         1         20         -11.89           42.72S         F # 112B         Male 8-8-50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8-50 Back         1         20         -7.64           52.12S         F # 116B         Male 8-8-50 Back         1         20         -7.64           52.12S         F # 10B         Male 8-8-50 Back         1         20         -7.64           52.12S         Male 11-11 50 Breast               NS         F # 208E         Male 11-11 100 Back              1:39.38S         F # 216E         Male 11-11 100 IM         1         20			Female 10-10 100 Free	6	13	-8.72
41.52S         F # 209D         Female 10-10 50 Free         1         20         -1.87           1:49.83S         F # 215D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback (8) M           24.01S         F # 104B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Fly         1         20         -11.89           42.72S         F # 112B         Male 8-8 50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -7.64           52.12S         F # 206E         Male 11-11 50 Breast              NS         F # 206E         Male 11-11 50 Back              NS         F # 214E         Male 11-11 100 Back              1:39.38S         F # 216E         Male 11-11 100 IM         1         20         2.70           Heidi Maclean (7)         F           27.52S         F # 105A						
1:49.83S         F # 215D         Female 10-10 100 IM         5         14         -3.29           Mychael Lindenback         (8) M           24.01S         F # 104B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Fly         1         20         -7.64           42.72S         F # 112B         Male 8-8 50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -3.72           Drayton Lonsberry         (11) M			Female 10-10 50 Free		20	
Mychael Lindenback (8) M           24.01S         F # 104B         Male 8-8 25 Breast         1         20         -12.55           25.84S         F # 108B         Male 8-8 25 Fly         1         20         -11.89           42.72S         F # 112B         Male 8-8 50 Free         1         20         -7.64           52.12S         F # 116B         Male 8-8 50 Back         1         20         -3.72           Drayton Lonsberry (11) M           NS         F # 206E         Male 11-11 50 Breast              NS         F # 208E         Male 11-11 50 Back              NS         F # 214E         Male 11-11 100 Back              1:39.38S         F # 216E         Male 11-11 100 IM         1         20         2.70           Heidi Maclean (7)           F         27.52S         F # 101A         Female 7 & Under 25 Free         5         14         -9.23           30.59S         F # 105A         Female 7 & Under 25 Back         4         15         -3.75           1:06.92S         F # 111A         Female 7 & Under 25 Free         8         11						
24.01S       F # 104B       Male 8-8 25 Breast       1       20       -12.55         25.84S       F # 108B       Male 8-8 25 Fly       1       20       -11.89         42.72S       F # 112B       Male 8-8 50 Free       1       20       -7.64         52.12S       F # 116B       Male 8-8 50 Back       1       20       -3.72         Drayton Lonsberry       (11) M       M       M       M       M       Male 11-11 50 Breast						
25.84S       F # 108B       Male 8-8 25 Fly       1       20       -11.89         42.72S       F # 112B       Male 8-8 50 Free       1       20       -7.64         52.12S       F # 116B       Male 8-8 50 Back       1       20       -3.72         Drayton Lonsberry (11) M         NS       F # 206E       Male 11-11 50 Breast             NS       F # 208E       Male 11-11 50 Back             NS       F # 214E       Male 11-11 100 Back             1:39.38S       F # 216E       Male 11-11 100 IM       1       20       2.70         Heidi Maclean (7)       F         27.52S       F # 101A       Female 7 & Under 25 Free       5       14       -9.23         30.59S       F # 105A       Female 7 & Under 25 Back       4       15       -3.75         1:06.92S       F # 111A       Female 7 & Under 50 Free       8       11       -4.35	-		Male 8-8 25 Breast	1	20	-12.55
42.72S       F # 112B       Male 8-8 50 Free       1       20       -7.64         52.12S       F # 116B       Male 8-8 50 Back       1       20       -3.72         Drayton Lonsberry (11) M         NS       F # 206E       Male 11-11 50 Breast             NS       F # 208E       Male 11-11 50 Back             NS       F # 214E       Male 11-11 100 Back             1:39.38S       F # 216E       Male 11-11 100 IM       1       20       2.70         Heidi Maclean (7) F         F       # 101A       Female 7 & Under 25 Free       5       14       -9.23         30.59S       F # 105A       Female 7 & Under 25 Back       4       15       -3.75         1:06.92S       F # 111A       Female 7 & Under 50 Free       8       11       -4.35						
52.12S       F # 116B       Male 8-8 50 Back       1       20       -3.72         Drayton Lonsberry       (11) M       M  <						
Drayton Lonsberry (11) M         NS       F # 206E       Male 11-11 50 Breast             NS       F # 208E       Male 11-11 50 Back             NS       F # 214E       Male 11-11 100 Back             1:39.38S       F # 216E       Male 11-11 100 IM       1       20       2.70         Heidi Maclean (7) F         27.52S       F # 101A       Female 7 & Under 25 Free       5       14       -9.23         30.59S       F # 105A       Female 7 & Under 25 Back       4       15       -3.75         1:06.92S       F # 111A       Female 7 & Under 50 Free       8       11       -4.35						
NS       F # 206E       Male 11-11 50 Breast <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td></td<>						
NS       F # 208E       Male 11-11 50 Back   -	•	•	Male 11-11 50 Breast			
NS         F # 214E         Male 11-11 100 Back              1:39.38S         F # 216E         Male 11-11 100 IM         1         20         2.70           Heidi Maclean         (7)         F          5         14         -9.23           27.52S         F # 101A         Female 7 & Under 25 Free         5         14         -9.23           30.59S         F # 105A         Female 7 & Under 25 Back         4         15         -3.75           1:06.92S         F # 111A         Female 7 & Under 50 Free         8         11         -4.35						
1:39.38S       F # 216E       Male 11-11 100 IM       1       20       2.70         Heidi Maclean (7) F         27.52S       F # 101A       Female 7 & Under 25 Free       5       14       -9.23         30.59S       F # 105A       Female 7 & Under 25 Back       4       15       -3.75         1:06.92S       F # 111A       Female 7 & Under 50 Free       8       11       -4.35						
Heidi Maclean         (7)         F           27.52S         F # 101A         Female 7 & Under 25 Free         5         14         -9.23           30.59S         F # 105A         Female 7 & Under 25 Back         4         15         -3.75           1:06.92S         F # 111A         Female 7 & Under 50 Free         8         11         -4.35				1	20	2.70
27.52S       F # 101A       Female 7 & Under 25 Free       5       14       -9.23         30.59S       F # 105A       Female 7 & Under 25 Back       4       15       -3.75         1:06.92S       F # 111A       Female 7 & Under 50 Free       8       11       -4.35				-		
30.59S F # 105A Female 7 & Under 25 Back 4 15 -3.75 1:06.92S F # 111A Female 7 & Under 50 Free 8 11 -4.35			Female 7 & Under 25 Free	5	14	-9 23
1:06.92S F #111A Female 7 & Under 50 Free 8 11 -4.35						
	1:09.57S	F #115A	Female 7 & Under 50 Back	4	15	0.57

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Time	F/P/S	Event	Place	Points	Improv
Mila McFadyen	(12) F				
1:24.81S	F # 203F	Female 12-12 100 Free	2	17	-8.25
48.25S	F # 205F	Female 12-12 50 Breast	1	20	-2.96
44.09S	F # 207F	Female 12-12 50 Back	1	20	2.21
1:36.07S	F # 215F	Female 12-12 100 IM	2	17	1.89
Sara McFadyen	(10) F				
1:27.76S	F # 203D	Female 10-10 100 Free	1	20	-5.03
52.96S	F # 205D	Female 10-10 50 Breast	1	20	-9.55
50.33S	F # 207D	Female 10-10 50 Back	5	14	-0.07
1:46.54S	F # 215D	Female 10-10 100 IM	3	16	-0.55
Jaden Melton (	(9) M				
24.38S	F #104C	Male 9-9 25 Breast	1	20	-19.50
21.10S	F #108C	Male 9-9 25 Fly	1	20	1.13
41.87S	F #112C	Male 9-9 50 Free	1	20	-0.45
49.48S	F #116C	Male 9-9 50 Back	1	20	0.93
Jude Melton (7	) M				
35.28S	F #102A	Male 7 & Under 25 Free	10	7	
47.02S	F #106A	Male 7 & Under 25 Back	8	11	
1:20.49S	F #112A	Male 7 & Under 50 Free	5	14	
1:25.59S	F #116A	Male 7 & Under 50 Back	8	11	
Bryiar Murphy	(7) F				
38.88S	F #101A	Female 7 & Under 25 Free	19		1.37
29.32S	F #103A	Female 7 & Under 25 Breast	1	20	-24.37
DQ	F #111A	Female 7 & Under 50 Free			
DQ	F #115A	Female 7 & Under 50 Back			
Landon Palmer	(7) M				
27.02S	F #102A	Male 7 & Under 25 Free	4	15	
31.89S	F #106A	Male 7 & Under 25 Back	3	16	
1:39.09S	F #112A	Male 7 & Under 50 Free	10	7	
1:18.32S	F #116A	Male 7 & Under 50 Back	5	14	
Molly Penn (10	) F				
1:29.63S		Female 10-10 100 Free	3	16	-12.84
55.14S	F # 205D	Female 10-10 50 Breast	6	13	-1.55
41.78S	F # 209D	Female 10-10 50 Free	2	17	-1.73
1:47.21S	F # 215D	Female 10-10 100 IM	4	15	-0.73
Nathan Penn (1	10) M				
1:52.28S	F # 204D	Male 10-10 100 Free	13	4	-6.90
1:04.25S	F # 206D	Male 10-10 50 Breast	7	12	-3.72
49.46S	F #210D	Male 10-10 50 Free	12	5	-4.11
2:00.58S	F #214D	Male 10-10 100 Back	2	17	-3.02

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Part	Time	F/P/S	Event	Place	Points	Improv
1.08.84S	Liam Pillay (8	8) M				
1:08.84S	28.34S	F #102B	Male 8-8 25 Free	14	3	
	34.09S	F #106B	Male 8-8 25 Back	11	6	
Part	1:08.84S	F #112B	Male 8-8 50 Free	15	2	
36.82S	1:17.90S	F #116B	Male 8-8 50 Back	10	7	
	Ella Rabichuk	(8) F				
1:20.01S	36.82S	F #101B	Female 8-8 25 Free	19		
Title   Titl	43.26S	F #105B	Female 8-8 25 Back	18		
Cale Rockley   18	1:20.01S	F #111B	Female 8-8 50 Free	22		
27.44S	1:42.48S	F #115B	Female 8-8 50 Back	20		
35.75S	Cale Rockley	(8) M				
1.08.38S	27.44S	F # 102B	Male 8-8 25 Free	10	7	
Name	35.75S	F #106B	Male 8-8 25 Back	13	4	
Name	1:08.38S	F #112B	Male 8-8 50 Free	13	4	
31.06S	1:17.26S	F #116B	Male 8-8 50 Back	9	9	
30.90S	Kierra Sikora	(8) F				
1:12.47S	31.06S	F #101B	Female 8-8 25 Free	12	5	
1:12.08S         F # 115B         Female	30.90S	F #105B	Female 8-8 25 Back	7	12	
Aidan Spence         (9)         M           25.81S         F # 102C         Male 9-9 25 Free         12         5         -6.84           53.85S         F # 112C         Male 9-9 50 Free         9         9         2.76           1:14.39S         F # 114C         Male 9-9 50 Breast         5         14         -0.80           1:03.82S         F # 116C         Male 9-9 50 Breast         5         14         -0.80           1:03.82S         F # 116C         Male 9-9 50 Breast         5         14         -0.80           1:03.82S         F # 116C         Male 9-9 50 Breast         8         11         1.62           Luc Tetrault (10)         M         W	1:12.47S	F #111B	Female 8-8 50 Free	17		
25.81S         F #102C         Male 9-9 25 Free         12         5         -6.84           53.85S         F #112C         Male 9-9 50 Free         9         9         2.76           1:14.39S         F #114C         Male 9-9 50 Breast         5         14         -0.80           1:03.82S         F #116C         Male 9-9 50 Back         8         11         1.62           Luc Tetrault (10) M           1:41.53S         F #204D         Male 10-10 100 Free         3         16         -13.35           59.71S         F #206D         Male 10-10 50 Breast         6         13         -12.58           47.90S         F #210D         Male 10-10 50 Breast         1         20         -11.72           Hailey Thiele (7) F           32.76S         F #214D         Male 10-10 100 Back         1         20         -11.72           Hailey Thiele (7) F           32.32S         F #107A         Female 7 & Under 25 Free         4         15         -1.97           59.66S         F #111A         Female 7 & Under 50 Free         4         15         -1.97           59.66S         F #203D         Female 7 & Under 50 Back         1         20         1.61	1:12.08S	F #115B	Female 8-8 50 Back	11	6	
53.85S         F #112C         Male 9.9 50 Free         9         9         2.76           1:14.39S         F #114C         Male 9.9 50 Breast         5         14         -0.80           1:03.82S         F #116C         Male 9.9 50 Back         8         11         1.62           Luc Tetrault (10) M           1:41.53S         F #204D         Male 10-10 100 Free         3         16         -13.35           59.71S         F #206D         Male 10-10 50 Breast         6         13         -12.58           47.90S         F #210D         Male 10-10 50 Free         9         9         -0.65           1:54.46S         F #214D         Male 10-10 100 Back         1         20         -11.72           Hailey Thiele (7) F           32.76S         F #103A         Female 7 & Under 25 Breast         3         16            23.32S         F #107A         Female 7 & Under 25 Free         4         15         -1.97           59.66S         F #115A         Female 7 & Under 50 Back         1         20         -1.61           Amelie Van Meenen (10) F           1:42.85S         F #203D         Female 10-10 100 Free         10         7	Aidan Spence	(9) M				
1:14.39S         F # 114C         Male 9-9 50 Breast         5         14         -0.80           1:03.82S         F # 116C         Male 9-9 50 Back         8         11         1.62           Luc Tetrault (10)         M         ***********************************	25.81S	F #102C	Male 9-9 25 Free	12	5	-6.84
1:03.825	53.85S	F #112C	Male 9-9 50 Free	9	9	2.76
Luc Tetrault (10)         M           1:41.53S         F # 204D         Male 10-10 100 Free         3         16         -13.35           59.71S         F # 206D         Male 10-10 50 Breast         6         13         -12.58           47.90S         F # 21DD         Male 10-10 50 Free         9         9         9         -0.65           1:54.46S         F # 214D         Male 10-10 100 Back         1         20         -11.72           Hailey Thiele (7)         F           32.76S         F # 103A         Female 7 & Under 25 Breast         3         16            23.32S         F # 107A         Female 7 & Under 25 Fly         1         20         -4.83           55.97S         F # 115A         Female 7 & Under 50 Free         4         15         -1.97           59.66S         F # 115A         Female 7 & Under 50 Back         1         20         1.61           Amelie Van Meener         (10) F         F         10         7         -6.72           1:02.56S         F # 203D         Female 10-10 50 Breast         10         7         -6.72           24.87S         F # 211D         Female 10-10 25 Fly         2         17         -7.26 <td>1:14.39S</td> <td>F #114C</td> <td>Male 9-9 50 Breast</td> <td>5</td> <td>14</td> <td>-0.80</td>	1:14.39S	F #114C	Male 9-9 50 Breast	5	14	-0.80
1:41.53S       F # 204D       Male 10-10 100 Free       3       16       -13.35         59.71S       F # 206D       Male 10-10 50 Breast       6       13       -12.58         47.90S       F # 210D       Male 10-10 50 Free       9       9       9       -0.65         1:54.46S       F # 214D       Male 10-10 100 Back       1       20       -11.72         Hailey Thiele (7) F         32.76S       F # 103A       Female 7 & Under 25 Breast       3       16          23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen       (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	1:03.82S	F #116C	Male 9-9 50 Back	8	11	1.62
59.71S       F # 206D       Male 10-10 50 Breast       6       13       -12.58         47.90S       F # 210D       Male 10-10 50 Free       9       9       9       -0.65         1:54.46S       F # 214D       Male 10-10 100 Back       1       20       -11.72         Hailey Thiele (7) F       F       # 103A       Female 7 & Under 25 Breast       3       16          32.76S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen       (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	Luc Tetrault	(10) M				
47.90S       F # 210D       Male 10-10 50 Free       9       9       -0.65         1:54.46S       F # 214D       Male 10-10 100 Back       1       20       -11.72         Hailey Thiele (7) F         32.76S       F # 103A       Female 7 & Under 25 Breast       3       16          23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen       (10) F       F       # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	1:41.53S	F # 204D	Male 10-10 100 Free	3	16	-13.35
1:54.46S       F # 214D       Male 10-10 100 Back       1       20       -11.72         Hailey Thiele (7) F         32.76S       F # 103A       Female 7 & Under 25 Breast       3       16          23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen       (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	59.71S	F # 206D	Male 10-10 50 Breast	6	13	-12.58
Hailey Thiele (7) F         32.76S       F # 103A       Female 7 & Under 25 Breast       3       16          23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	47.90S	F #210D	Male 10-10 50 Free	9	9	-0.65
32.76S       F # 103A       Female 7 & Under 25 Breast       3       16          23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	1:54.46S	F #214D	Male 10-10 100 Back	1	20	-11.72
23.32S       F # 107A       Female 7 & Under 25 Fly       1       20       -4.83         55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	Hailey Thiele	(7) F				
55.97S       F # 111A       Female 7 & Under 50 Free       4       15       -1.97         59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen (10) F         1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26			Female 7 & Under 25 Breast	3	16	
59.66S       F # 115A       Female 7 & Under 50 Back       1       20       1.61         Amelie Van Meenen       (10) F       F       1:42.85S       F # 203D       Female   10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female   10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female   10-10 25 Fly       2       17       -7.26	23.32S	F #107A	Female 7 & Under 25 Fly	1	20	-4.83
Amelie Van Meenen     (10)     F       1:42.85S     F     # 203D     Female     10-10 100 Free     10     7     -6.72       1:02.56S     F     # 205D     Female     10-10 50 Breast     10     7     -8.32       24.87S     F     # 211D     Female     10-10 25 Fly     2     17     -7.26	55.97S	F #111A	Female 7 & Under 50 Free	4	15	-1.97
1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	59.66S	F #115A	Female 7 & Under 50 Back	1	20	1.61
1:42.85S       F # 203D       Female 10-10 100 Free       10       7       -6.72         1:02.56S       F # 205D       Female 10-10 50 Breast       10       7       -8.32         24.87S       F # 211D       Female 10-10 25 Fly       2       17       -7.26	Amelie Van Mo	eenen (10) F				
24.87S F # 211D Female 10-10 25 Fly 2 17 -7.26			Female 10-10 100 Free	10	7	-6.72
•	1:02.56S	F # 205D	Female 10-10 50 Breast	10	7	-8.32
1:59.57S F # 215D Female 10-10 100 IM 8 11 -4.31	24.87S	F #211D	Female 10-10 25 Fly		17	
	1:59.57S	F #215D	Female 10-10 100 IM	8	11	-4.31

# Individual Meet Results - Standard: 16-17TI

Halloween Howler 2016 23-Oct-16 SC Meters

**Location: Talisman** 

Time	F/P/S	Event	Place	Points	Improv
Nieke Volsteedt	(8) F				
42.20S	F #101B	Female 8-8 25 Free	20		
38.96S	F # 105B	Female 8-8 25 Back	16	1	
1:33.52S	F #111B	Female 8-8 50 Free	25		
NS	F #115B	Female 8-8 50 Back			
Hudsyn Watt	(7) F				
33.48S	F #101A	Female 7 & Under 25 Free	16	1	
38.70S	F # 105A	Female 7 & Under 25 Back	13	4	
1:26.24S	F #111A	Female 7 & Under 50 Free	16	1	
1:27.59S	F #115A	Female 7 & Under 50 Back	11	6	
Paisley West (	8) F				
31.39S	F #103B	Female 8-8 25 Breast	4	15	-4.71
31.07S	F #105B	Female 8-8 25 Back	9	9	-0.70
56.14S	F #111B	Female 8-8 50 Free	7	12	-6.20
1:15.03S	F #115B	Female 8-8 50 Back	13	4	4.38
Chase Wise (8	) <b>M</b>				
27.63S	F #102B	Male 8-8 25 Free	11	6	
31.77S	F #106B	Male 8-8 25 Back	6	13	
1:25.02S	F #112B	Male 8-8 50 Free	19		
1:22.03S	F #116B	Male 8-8 50 Back	13	4	
Ben Zwanepoel	(9) M				
34.55S	F # 104C	Male 9-9 25 Breast	3	16	-2.53
1:09.92S	F #112C	Male 9-9 50 Free	19		-3.99
1:16.95S	F #114C	Male 9-9 50 Breast	6	13	3.06
1:11.37S	F #116C	Male 9-9 50 Back	10	7	-5.53